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1-The manager needs someone to ......... the whole operations. He needs someone who can make
various different things of the company work effectively.

1. delete 2. change 3. reject 4. coordinate

2-The process of making out or sending invoices is called........ .

1. invasion 2. keeping 3. booking 4. billing

3-The unemployment in this part of the country is virtually non-existent. ‘Virtually’ means....... .

1. almost 2. always 3. never 4. ever
4-Changing an organization is the process of ......... an existing organization.
1. damaging 2. collapsing 3. modifying 4. decorating

5-Success at problem seeking is one of the ways to distinguish exceptional managers from the
merely good or even bad ones. ‘Ones’ refers to......... .

1. ways 2. success 3. problems 4. managers

6-Many management writers define creativity as the......... of a new idea and innovation as the
translation of a new idea into a new company.

1. translation 2. stagnation 3. generation 4. modification

7-A person or company that agrees to do work or provide goods for another company is called......

1. controller 2. contractor 3. competitor 4. commander

8-Those who are responsible for test-making, advertising, and promoting are...... managers.
1. financial 2. technical 3. marketing 4. production
O-He had....... most of the goods of his shop in his house. He had kept them for a long time in his
house.

1. stored 2. refined 3. exposed 4. competed

1 (-A system, process, etc. that operates in isolation from others is called........ .

1. silo 2. faith 3. core 4. crisis

11 -My father is a retired person. He receives his....... from the government every month.

1. performance 2. precaution 3. policy 4. pension

3 il | amio e 14031404 Jgf Jluowd 1010/1010119934
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12-A company or a person that provides a particular product is called........... .
1. buyer 2. supplier 3. customer 4. distributor
1 3-The amount of money that is paid to an employee who is to be dismissed for the reasons other
than his own fault is called........ .
1. salary 2. wages 3. pension 4. severance
14-In the process of replacing vertical structure to horizontal structure, the necessary things that
make it happen are.......... .

1. teams 2. steps 3. structures 4. experiences

1 5-Your explanation might have convinced my brother, but not me. ‘Convinced’ means........ .

1. persuaded 2. preserved 3. predicted 4. producted

1 6-The move to a more important job or position in a company or an organization is called........ .

1. prevention 2. precaution 3. promotion 4. projection
17 -The product of this new factory is the result of the ............. between two of the best companies
in our country.
1. collaborate 2. collaborative
3. collaboratively 4. collaboration

1 8-The money paid to someone because he or she has suffered injury or loss, or because
something he or she owns was damaged is called........ .

1. connotation 2. competition
3. communication 4. compensation
1 9-To permit an organization’s manager to assess the health of the organization, the confrontation
meeting may be used. ‘Assess’ means........ .

1. delete 2. evaluate 3. destroy 4. reject

2(0-Managers must be accountable for their decisions. ‘Accountable’ means......... .

1. unreliable 2. destructive 3. responsible 4. incompatible

21 -They could reduce their costs by developing a more efficient distribution network. ‘Distribution
network’ means........ .

1. Y6 S50 el 2. Jgpazme dd g 3. L8 s 4 g S
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22_In the online world, this kind of access can be costly and cumbersome because data are often
spread across several computer systems. ‘Access’ means...... .

23-The company’s preferred information technology devices offered an acceptable range of
merchandise. ‘Merchandise’ means....... .
1. oL 2. 48,25 3. dgw 4. ¥y§

24-This company will improve its members’ performance and satisfaction. ‘Performance and
satisfaction’ means........ .

1 g g5 2. ol 9 3,Shes
3. )9 0500 9 Colidy 4 G aeliyp 9 )0

25-The shortage of skilled employees make training and development an essential area of human
resource management. ‘Shortage of skilled employees’ means....... .

T Olie)8 @ylge Gl 2. e 0bley3)S )l
3. ).MA Q\..U.A_)S.)ﬁos 4. _)SL_?}}},; L):AAG
26-Their campaign slogan was ‘peace, stability, and prosperity’. ‘Slogan’ means......... .

LERRVY RS 2. i 3. jLxaal 4, BIESY

27 -A major environmental factor that is forcing the development of flexible managers is_global
competition. ‘Global competition’ means....... .

1 Glez ey 2. Jo iy 3 s ol 4 e Copie

28-In the absence of a formal process, strategic decisions are made in a piecemeal fashion. ‘In the
absence of’ means......... .

1. ole 2. D o 3. 39290 4, SSL

29-Joseph Schumpeter viewed innovation as the source of success in the market company. ‘Source
of success’ means......... .

1. JeS 38l 2. Joo cpiidge 3. 3990 35y 4 Cuadge auin

3(-The company has criticized the great emphasis placed on collectivism. ‘Collectivism’ means......

1 GsB whlas 2 Gaszse S
3. ol cuSIle pllas 4 Sl cuSb plas
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1-This company........ its operations last year and opened several regional smaller offices.

1. predicted 2. respected 3. centralized 4. decentralized

2-More details of the plan emerged at yesterday’s meeting. ‘Emerged’ means......... .

1. altered 2. deposed 3. appeared 4. disappeared

3-The series of operating on data, especially by a computer, to retrieve, transform, or classify
information is called......... .

1. database 2. simulation

3. inventory record 4. data processing

4-The improvement in sales figures had a beneficial influence on the company as a whole.
‘Beneficial’ means........ .

1. helpful 2. useless 3. unclear 4. unusual

5-The amount of information produced by a computer is called......... .

1. input 2. output 3. defect 4. corruption

6-This university has very good lab facilities. ‘Facilities’ means......... .

1. managers 2. accounting 3. equipment 4. persons

7-The organizational effectiveness is the result of organizational activities based on three factors: (1)
people, (2).......... , (3) technology.

1. salary 2. structure 3. culture 4. customs

8-This system is too cumbersome and expensive. ‘Cumbersome’ meanes........ .

1. easy 2. simple 3. honest 4. complicated

9-He works for a company that manufactures car parts. ‘Manufactures’ means........ .

1. makes 2. spoils 3. assembles 4. separates

10-They hired someone to inspect the applicants’ documents for fairness. ‘Inspect’ means.......... .

1. examine 2. deter 3. eliminate 4. emphasize
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11-The existing trade barriers make our business difficult. They....... us from doing many activities.

1. encourage 2. promote 3. improve 4. prevent

12-The board of directors of a public corporation is expected to ....... that the business is being
properly managed.

1. avoid 2. prevent 3. ensure 4. discourage
13-This new company will....... many new jobs for us.
1. generation 2. generated 3. generate 4. generates

14-In order to be responsible to their stakeholders, most companies concentrate on customers,
employees, and......... .

1. product 2. managers 3. investors 4. environment

15-Their new prices are very........... .

1. compete 2. competitive 3. competition 4. competitively

16-The configuration of the new organization can be viewed as a combination of team and network
structures. ‘Configuration’ means.......... .

1. layout 2. layoff 3. dignity 4. drawback
17-The person who is employed to take care of a large building and deals with the cleaning, repairs,

etc. is called.......... .

1. manager 2. janitor 3. director 4. supervisor

18-The twins are so alike. It’s difficult to distinguish one from the other. ‘Distinguish’ means.......... .

1. invest 2. explode 3. recognize 4. eliminate
19-Like other organizational managers, human resource managers must consider their organization’s
environment, resources, and......... .
1. gates 2. goals 3. rates 4. races
20-The phrase appropriate human resources refers to the individuals within the organization
."individuals" means.....

1. persons 2. managers 3. workers 4. places
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21-The company’s quality enhancement will improve our customer’s satisfaction. ‘Enhancement’

means........ .

1. integration 2. punctuality 3. improvement 4. maintenance
22-Modern weapons have an extremely destructive power. They will ....... many things.

1. destroy 2. construct 3. organize 4. complete

23-Most of the banks became virtually bankrupt. ‘Virtually’ means......... .

1. almost 2. always 3. seldom 4. certainly

24-This company doesn’t have permanent staff, but has a large workforce of ........... workers who
work for very short time.

1. temporary 2. predicted 3. temperatured 4. producted

25-She persisted in her studies in spite of financial problems. ‘Persisted’ means......... .

1. delayed 2. insisted 3. stopped 4. disbanded

Y e 1010/1010117430

1Py bt




Lo japi pallid aslgis g o UL
jgi plyy Sigine @ cdilgm aigod Sglis g
[_.-:_L_“IL_}-.]ayur::nurlu

S’ S g gl | ol
e | g
Sk S 1
Sk T 2
sk S 3
ook < 4
Sl < 5
sl 6
Sk < 7
sk S 8
sk < 9
sk < 10
ook 0 11
sols rd 12
ook d 13
ook rd 14
Sk - 15
ook < 16
ook < 17
ook d 18
ook . 19
ook < 20
sl rd 21
ook < 22
Sk < 23
sk < 24
Sl < 25




L..1.'|..I||.:,|..| BLL aslgit 4 A%
o iy linm:.._: clllgm aignid Salfls s s 3)‘6.'&)“3@&)“ ) j’-lpl-l-l_‘. _-_I_ 20 Iz
() ‘,-}u:..rurnn:_'lrlu it gl =

VGt Jlgw (5w cloRpd Qe s g 2 (4RB9) ygoiT o cI e YO ol 2 DY g S

2 panads 32 (paars B3] paass Bl oaadi ol 3o sS Ol gt

TRV 1 A17. WP CJSRCPRRVARET {1 {77 WPH LSS IRCFEVRVOR ] 4} 20 4 JUCISTRRCEUIRVIRE {1 2% ¢ JUUE PRECIURVE JRWY JU Ly gl WL ¥ vt
WFNTA e — WWFFT) g0 o pioe— INIVFFE S o iiaiuo S e S 530 oy doe g0 —
AVFVAQ g oo

1-Human resource management is a comprehensive, integrated system for effectively managing the
work force. comprehensive means ................... .

1. natural 2. complete 3. flexible 4. appropriate
2-The two companies worked in close ............c........ with each other on the new project.
1. collaboration 2. translation 3. compensation 4. transaction

3-He is a new breed of manager whose performance seems necessary. breed means ................. .

1. context 2. point 3. action 4. kind

4-Managers should make changes that increase organizational ................ .

1. retirement 2. confrontation 3. attendance 4. effectiveness

5-1t's often very difficult to change the manager's attitude. The word "attitude" means

1. service 2. opinion 3. sjtuation 4. assistance

6-They offer her a comprehensive training in all aspects of the business. comprehensive means .......

1. uncertain 2. growth 3. quality 4. complete

7- To increase organizational efficiency, managers may want to change the equipment. The word
"equipment" means ................. .

1. experiences 2. quantities 3. janitors 4. facilities
8-Organizations that are too rigidly structured may have a difficult time ................ their activities.
1. integrating 2. clarifying 3. contributing 4. devising

9-Employee evaluation is the process of assessing the quality of an employe's job performance. The
word "assess" means ........... .

1. refuse 2. consider 3. judge 4. collect

10-The company decentralized its operations last year and opened several regional offices.
decentralize means ................ .

1oes it 208 ol alr % oo kel Bon iy
11-The exploration for new sources of energy is vital for the future of our planet. the word "vital"

means ........ccceeeeee. .

1. crucial 2. visual 3. annual 4. verbal
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12-1t is a view that is reinforced by today's changing and competitive environment. The word
"reinforce" means .....cccccceeeennns .

1 o5 ol 2 oS Cagis 3 o5 lasty 4 oo plesl
13-They are expecting a large .......ccceeeeenns at the meeting.

1. regulation 2. sequence 3. precaution 4. attendance
14-He works for a recruitment consultancy in Shiraz. recruitment means............. .

Tyl 98 50,5 20 leslite ol oo 5 i

B Lo g Syeis 4 Sl Jlisl 5 el
15-They always try to ............... their customers with financial assistance if necessary.

1. accommodate 2. constitute 3. manufacture 4. decentralize
16-The research groups ............... to be the first to make the breakthrough.

1. compete 2. competition 3. competitor 4. competitive

17-Change is a fundamental part of organizational existence. fundamental means ................. .

1. regular 2. potential 3. creative 4. necessary

18-A fear of unemployment is one of the main factors behind the current stagnation in the property
market. stagnation means..........

1. pay well 2. make less 3. use well 4. make possible

20-Members then determine what actions need to be taken to solve the problems. The word
"determine" means ........ccceeuunee. .

1. decide 2. survive 3. prevent 4. reject

21-An important breakthrough in the organization has been achieved. The word "breakthrough"
Means ......eeeeeeennee .

1. C I 00 2. 5,550, 3. Soalen 4. Cd iyl
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22-An amount of money paid to an employee who is to be dismissed for reasons other than his own
faultis called ................ .

1. severance 2. recruitment 3. regulation 4. initiative

23-Participants are usually screened to make sure they can withstand the anxiety raised by a T group.
The word "withstand" means ................. .
1. focus 2. gain 3. repair 4. pear

24-Some workers were inhibited from speaking by the presence of more managers. inhibit means

1. convince 2. interest 3. examine 4. prevent

25-1t is a large business firm that controls the production of goods of very different kinds. it refers to

1. innovation 2. conglomerate 3. implementation 4. expenditure
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1-The Purpose of organizational modification is to increase organizational
effectiveness. “ Organizational effectiveness” means ................

1. The action of making people function together
2. The extent to which an organization accomplishes its objectives
3. A system for controlling stock on the basis of indefinite time

4. Modification of an existing organization

2-Which of the following factors are NOT important in changing an organization?

1. Change agent 2. Determining what should be changed
3. The kind of change to make 4. The levels of responsibility

3-Characteristics of the human resources within the organization such as attitudes,
leadership and communication skills are called ................. factors.

1. People 2. Structure 3. Technology 4. Control

4- After organizational structure has been changed, management should conduct
............ to make sure the change is accomplishing its purpose.

1. Motivation 2. Recruitment 3. Flexibility 4. Periodic review

5-Changing the equipment, the expert skills and the sequence of activities used to
produce goods and services is called ............. .

1. Structural change 2. People change

3. Managerial change 4. Technological change

6-An important development or discovery that helps to provide an answer to a

problem is called .................
1. Facility 2. Breakthrough 3. Sequence 4. Consultation
7-The company.............. its operations last year and opened several regional offices.
1. Supplemented 2. Adapted 3. Declined 4. Decentralized
8 511 aio 1Fo¥ il 1010/1010109056
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8-1dea .....eouee. is dependent on the organizational culture and processes within the
organization.
1. Generation 2. Development 3. Implementation 4. Innovation

9-Outside consultants and experts are important sources of information for managers,
because they are frequently aware of new products or services developments in

their fields. “ They” refers to .........
1. Managers 2. Qutside consultants and experts
3. New products 4. Sources

10-Creative people stick to their guns stubbornly when their ideas are challenged.
“Stick to their guns” means ............

1. Continue and insist on their ideas
2. Create new ideas
3. Prevent people from understanding their ideas

4. Change their ideas

11-The creative process in organizations involves.......... .

1. Two steps: idea generation and problem-solving

2. Two steps: idea development and implementation

3. Three steps: idea generation. idea development and implementation
4. Three steps: creativity, innovation and problem-solving

12-The Swisswatch industry operates by traditional practices and old-fashioned
individual ............ .

1. Crafts 2. Craftsman 3. Craft 4. Craftsmanship

13-The ability to combine ideas in a unique way or make unusual associations between
ideas is called ........... .

1. Innovation 2. Stimulation 3. Creativity 4. Novelty
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14-Every organization, whether it’s a multinational conglomerate or a small business
depends on people. “Conglomerate” means ........... .

1. A committee that have many regulations
2. A large business firm that controls the production of many goods
3. A set of ideas of what to do internationally

4. A large system consisting of similar parts

15-Compensation plans increasingly reward actual performance instead of longevity or

rank. “Compensation” means ............ .
1. Benefits given to employees 2. An amount of money spent
3. A plan of how much money to take in 4. A set of events happen continuously

16-The process of attracting and selecting employees for positions based on
organizational goals is called ......... .

1. Training 2. Staffing 3. Evaluation 4. Replacement

17-A fear of unemployment is one of the main factors behind the current .......... in the
property market.

1. Stagnate 2. Stagnantly 3. Stagnant 4. Stagnation

18- A process of individual training and development by moving around between
different jobs to gain experience and understand different perspectives is called

1. Job rotation 2. Payroll 3. Pension 4. Janitor

19-The human resource managers must respect the organization’s ............. .

1. Skills and professionals 2. Goals and cultures
3. Competitors and flexibilities 4. Efforts and economies

20-pPerformance appraisal is one of the procedures managers can use to determine the
training needs of employees. “Performance appraisal” means ........ .
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21-The emphasis of ............... is on participants learning from their own experience as
they form a group and begin to adopt its norms and resolve conflicts.

1. Diagnosis analysis 2. Task assignment

3. Operational development 4. T(raining) group

22-The way managers adopt their problem-solving processes to the environment is
called ............ .

1. Problem-solving process 2. Renewal process
3. Collaborative management 4. Action research
23-0D stands for ............. .
1. Operational Domain 2. Qperational Department
3. Organizational Diagnosis 4. Organizational Development

24- A one-day meeting of all of an organization’s managers in which they discuss
problems, analyze the underlying causes and plan remedial actions is called .............

1. Confrontation meeting 2. Remedial session

3. Empowerment meeting 4. Task assignment session

25-1n @ ceerernnen organization, everyone’s status is very clearly defined.

1. Hierarch 2. Hierarchy 3. Hierarchical 4. Hierarchically

26-Transactional analysis attempts to reduce destructive communication habits or
“games” in which the intent of message is obscured. “Obscured” means ............ .

1. Included 2. Made less clear

3. Revealed clearly 4. Lasted for a long time

27-He has no ............ in controlling the company.

1. Advertises 2. Reduction 3. Expertise 4. Industry
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28-Many are doubtful that this technology will ever be financially

1. Stubborn 2. Rational 3. Viable 4. Integrative
29-Some experts think that government .............. is useful to reduce the goods prices.
1. Exploitation 2. Precautions 3. Intervention 4. Merger
30-If you do something on your own............. , you plan it and decide to do it yourself
without anyone telling what to do.
1. Labor 2. Longevity 3. Initiative 4. Stabilization
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1-The purpose of organizational modifications is to....... organizational effectiveness, i.e. the extent
to which an organization accomplishes its objectives.

1. refuse 2. reject 3. decrease 4. increase

2-That company has a. ....... of Dollars 800,000. This plan of how much money to take in and how to
spend it is not something new for this company.

1. budget 2. price 3. rule 4. Jaw

3-The making or production of things in factories is called........ :

1. habit 2. culture 3. industry 4. network

4-The generation of ideas in an organization depends first and foremost on the flow of people and

information between the firm and its environment. ‘Firm’ means........ .

1. friends 2. persons 3. families 4. company
5-An individual who acts as a specialist in changing some aspect of an organization is called a....... :

1. manager 2. change agent 3. coordinator 4. time consumer
6-There are no doubts about the........ of the new worker’s ability.

1. effected 2. effective 3. effectively 4. effectiveness
/-He is very apt at doing difficult jobs. ‘Apt’ means....... :

1. clever and quick 2. lazy and noisy 3. young and lazy 4. ugly and old

8-Some people find it hard to.......themselves to the new working conditions.

1. accommodated 2. accommodates
3. accommodate 4. accommodational
9-You will surely......your friendship if you tell lies.
1. |oses 2. |ost 3. |ose 4. |oss

10-Their manager has a....... power of the mind.

1. generative 2. generate 3. generates 4. generatively
11-Our teacher acts as a........ of learning.

1. facilitate 2. facilitator 3. facilitates 4. facilitative
12-The shopkeeper...... the price of the bag that | wanted to buy.

1. reduce 2. reduced 3. reducible 4. reduction
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13-Unlike idea generation, idea development is dependent on the organizational culture and
processes within the organization. ‘Within’ means....... :

1. in 2. under 3. out of 4. without

14-An organization’s efforts to implement its strategy often involve a highly interrelated set of human
resource actions. ‘Implement’ means........ :

1. change 2. stop 3. cut 4. do

15-The car parts themselves are not expensive. It’s the labor that costs the money. ‘Labor’ means..... .

1. price 2. work 3. tax 4. wheel

16-There is a great risk to work in a coal mine. ‘Risk’ means....... .

1. safety 2. health 3. danger 4. peace

17-The point at which someone stops working or the period in a person's life when he has stopped
working is called......... .

1. enjoyment 2. retirement 3. recreation 4. employment

18-The first action which is often intended to solve a problem is called........ :

1. breed 2. stability 3. initiative 4. stagnation
19-This employee has no....... of the size of the problem.
1. comprehension 2. comprehensively 3. comprehensive 4. comprehend

20-The techniques of change agents can be used to improve the effectiveness of individuals.
‘Individuals’ means....... s

1. companies 2. neighbors 3. enemies 4. persons

21-To permit an organization’s managers to assess the health of the organization, special meetings
may be used. ‘Assess’ means....... .

1. evaluate 2. construct 3. remove 4. prevent
22-An organizational........plays an important role in the management process.
1. develops 2. development 3. developmental 4. developmentally

23-A behavioral training technique using laboratory training or T-group training is called.......training.

1. transaction 2. sensitivity 3. merger 4. team
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24-The lack of jobs in this area means that the workforce is easily........ :

1. exploit 2. exploits 3. to exploits 4. exploitable
25-He is living happily in......., with his retirement pension.
1. retire 2. retires 3. toretire 4. retirement

26-By creating barriers to communication, such organizations may prevent problem solutions from
reaching managers who need them. ‘Creating barriers’ means......... .

1 glge ol 2 s P 3 sy T sl A wlge 5l S5l

27-1n general, managers should make changes that increase organizational effectiveness. ‘In general’
means....... :

1.

2

st gt 3-‘_45}319@ 4.

S99 b

28-Human resource management is a comprehensive, integrated system for effectively managing the
work force in the effort to achieve an organization’s goals. ‘Human resource management’

means....... .
1L e gle ol 2. Sl mlie e < RV T S 4 5L oy e
29-0ur boss has a confrontation meeting with the prime minister. ‘Confrontation meeting’ means......

30-To carry out this change, managers must consciously change the organizational culture.
‘Organizational culture’ means....... :

1 i s o lojls 2. S8 bplejl 3 Slejl Kian 3 A San g
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1-This company .................. its operations last year and opened several regional offices.

1. exposed 2. manufactured 3. recruited 4. decentralized
2-The university has very good lab facilities. facilities means ................ :

1. equipment 2. function 3. payment 4. operation
3-The manager has some.................. over the employee; therefore, he can change his decisions.

1. merger 2. authority 3. barrier 4. longevity

4-Your explanation might have convinced him, but it didn't convince his sister. convince means

1. constitute 2. produce 3. emphasize 4. persuade

5-1t always intrigues me how someone so intelligent could do such stupid things. intrigue means

1. combine 2. increase a lot 3. determine 4. interest a lot

6-Structural change is aimed at increasing organizational ...........c.c........ through modifications to the
existing organizationalstructure.

1. effectiveness 2. empowerment 3. succession 4. movement

/-My friend stayed and talked so much that he ....... his train.

1. lose 2. lost 3. loses 4. losing

8-They must be convinced by pay, benefits, and working conditions to take and keep the job. The

word "convince” means ............. .

1. improve 2. persuade 3. obscure 4. arrange
9-Unemploymentis a.............. problem which won't just disappear overnight.

1. competitive 2. stubborn 3- operative 4. voluntary

10-1t is an amount of money paid to an employee who is to be dismissed for reasons other than his
own fault. it refers to .............. .

1. retirement 2. succession 3. severance 4. generation
11-Creative people tend to be more ................ than none-creative people. They are able to shift from
one approach to another when tackling a problem.
1. flexible 2. exploitative 3. accurate 4. competitive
¥l axie 1PAA bl 1010/101083527
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12-A high degree of integration is required among the various units of the organization. The word
"require" means .............. .

1. need 2. learn 3. find 4. allow
13-Managers should choose change agents who possess the most .................. in the areas suggested

by the necessary special skills.

1. perspective 2. sequence 3. attendance 4. expertise
14-Computers are used to store and ................. information efficiently.

1. pure 2. encourage 3. interest 4. retrieve
15-Benefits are parts of the ................. package provided by the employer other than direct wages.

1. conglomerate 2. |ongevity 3. compensation 4. stability
16-The workers were.................. to considerable danger.

1. exposed 2. integrated 3- refined 4. intrigued
17-Modern weapons have an extremely high ................. power.

1. exploitative 2. destructive 3- collaborative 4. integrative
18-The two companies worked in close. ................ with each other on the new projects.

1. modification 2. rejection 3- collaboration 4. reduction

19-Transactional analysis attempts to reduce destructive communication haibts .reduce means

1. appear 2. make less 3. develop 4. make possible
20-Laws exist to stop companies .........c.c...... their employees.
1. forecast 2. diagnose 3. exploit 4. refine

21-An approach which analyses different activities of a group to improve its effectiveness is called

1. process consultation 2. team building

3. sensitivity training 4. task assignment
22-The company has a large workeforce of permanent and ................ staff.

1. remedial 2. destructive 3. rational 4. temporary
23-A plan of how much money to take in and how to spend it is called .................. .

1. network 2. merger 3. budget 4. janitor
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24-1t is a list of the people employed by a company showing how much one earns. it refers to

1. barrier 2. expert 3. benefit 4. payroll

25-A large business firm that controls the production of goods of very different kinds is called

1. conglomerate 2. confrontation 3. performance 4. precaution

26-The employers have a_process consoltation to decide whether to increase their worker's wages.

process CO"SOItation means.......
1. uL..Lo.t: ‘J.‘D-‘).o ajsl.:&.n 2. a..l.u.ﬁ.f:"” u:'b’.ws 3
3. O ySdos 2budiyyl b > 4. Silgsl s 3L

27-The performance appraisal of a worker is compared to walking 4 miles per hour, as a performance

standard of 100. The word "performance appraisal” means................. ¢
1o Slae b)) 2 35 )15 St 3. 5 Slae sy 4 a5l
28-His task assighment was to collect unclear evidence for investigation. Thr word "task assignment”
MEANS .ccvevrrnernrenennnns :
1o ls goeys 2. (s 3. )15 o las 4.
B o Joe H10 SLTSIE Jo£ i

29-Many managers consider change to be so critical to the success of the organizations that they encourage
employees to continually search for areas in which beneficial organizational change can be made.
‘Encourage employees’ means........ .

1wy o g 1) oylasw, s 2 5 0 4 |y LS,

3. was o plmil wus elusuiu 4. sus o plosw! |y Ll 8,1

30-These competitors introduced new products into the market. ‘These competitors introduced new products
into the market’ means........ .

1

o (590 gez ikl was WY gase 2. sl 3929 3L 30 bl culs,

3w b o Ik el culs, syl 4 00,5 4 ye 45k 4 was &Y gaze L, o
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1-They have to observe many ........ in the way they do business.

1. regulate 2. regulates 3. regulative 4. regulations

2-The working conditions of this company require that the employees must come to the workplace
early. ‘Require’ means....... .

1. need 2. remove 3. fresh out 4. decentralize

3-The current structure of this company facilitates the efficient work flow. This structure makes the
efficient work flow .......... .

1. easier 2. harder 3. faster 4. slower

4-The amount by which payment or the price of something is reduced is called....... .

1. raise 2. increase 3. reduction 4. regulation
5-The plans that the new manager suggested need ................ :

1. modify 2. modifies 3. modifiable 4. modification
6-He is a new breed of manager whose performance seems excellent. ‘Breed’ means...... .

1. boss 2. kind 3. belief 4. expert

/-In general, managers should attempt to make people change when human resources are shown to
be the main cause of organizational........ :

1. honor 2. abilities 3. effectiveness 4. ineffectiveness

8-Anything that prevents people from understanding or doing something is called....... .

1. barrier 2. progress 3. promotion 4. development
9-The employee is afraid he can’t generate much interest for the job. ‘Generate’ means.......
1. prevent 2. obscure 3. produce 4. disprove

10-A place where goods are kept is called....... .

1. space 2. store 3. network 4. succession

11-There must be a perfectly ........ explanation for what happened. The explanation must have the
power of reason.

1. social 2. cultural 3. rational 4. national

12-We must reduce labor cost if we want to make a profit this year. ‘Reduce’ means...... .

1. increase 2. decrease 3. screen 4. refine
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13-Economic historian, Joseph Schumpeter, viewed .......... as the source of success in the market
economy, a view that is reinforced by today’s changing and competitive environment.

1. inflation 2. stagnation 3. inefficiency 4. innovation

14-The creative process in organizations involves three steps: idea generation, ....... solving , and
implementation.

1. problem 2. profit 3. unity 4. loss

15-Our company has decided to assist the organization of an international conference in the following
year. ‘Assist’ means...... :

1. help 2. ignore 3. modify 4. reduce

16-He gets his ...... at the end of the month. This money that he receives for his work is enough for
him.
1. sequence 2. barrier 3. board 4. pay

17-The discovery of gold in that part of the country brought many benefits to the country. ‘Benefits’
means...... .

1. |osses 2. disorders 3. advantages 4. disadvantages

18-A person who takes care of a large building and deals with the cleaning and repairs is called...... .

1. janitor 2. auditor 3. consultant 4. accountant

19-Prices should remain ........ for some months.

1. stabilize 2. stability 3. stably 4. stable

20-They have diagnosed the sources of the problems. ‘Diagnosed’ means....... .

1. encouraged 2. recognized 3. rotated 4. fired

21-The two companies worked in close ........ with each other on the new projects.

1. collaborate 2. collaboration 3. collaborative 4. collaboratively

22-Translation analysis (TA) concentrates on styles and content of communication between people.
‘Concentrates’ means........ .

1. withstands 2. deviates 3. focuses 4. inhibits

23-Many of the approaches to planned change are appropriate for solving immediate and specific
problems. ‘Appropriate’ means... .

1. flexible 2. suitable 3. remedial 4. destructive
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24-The manager made a careful....... of the employees’ performances. He wanted to know how their
performances were.

1. collaboration 2. confrontation 3. exploration 4. transaction

25-The process of individual training and development by moving around between different jobs to
gain experience and understand different perspectives is called....... :

1. job rotation 2. recruitment 3. change agent 4. team building

26-After organizational structure has been changed, management should conduct periodic reviews to
make sure that the change is accomplishing its intended purpose. ‘Organizational structure’
means...... .

1 bbsle i, 2. syl olojlus 3. ol s, 4 byl sl

27-Frequent and informal communication across an organization has been shown to have positive

effects on innovation. ‘Informal communication’ means..... .
1o e )sb Slell 2. by o e 3. aly i J5I5 4. oy i bLS
28-A severance agreement has been accepted by the workers. ‘Severance’ means....... :

29-This planning consists of forecasting an organization’s needs for employees in accordance with
organizational goals. ‘Forecasting’ means....... .

LNES 2 Juas 3 S i s
30-Sensitivity training was an early and fairly widespread OD technique. ‘Sensitivity training’
means...... .
1. ool oyl 2. cy90l L3 3. 6,190l 6,553 4. > Y
ST ARG Sigel )b, S99l V5l S @
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1-An important breakthrough in the organization has been achieved. The word "breakthrough"
MEeans ......ceeeenees :

1. involvement 2. environment 3. development 4. requirement

2-The purpose of organizational modifications is to increase organizational effectiveness. The word
"modification” means................. .

1. change 2. production 3. increase 4. connection

3-1t always intrigues me how someone so intelligent could do such stupid things. The word "
intrigue” means ................ .

1. indicate 2. interest 3. handle 4. dismiss

4-Structured organizations that inhibit communication between departments will often keep
potentially helpful people from knowing that a problem exists. The word "inhibit" means

1. persuade 2. prevent 3. compare 4. assist

5-His view is reinforced by today's changing and competitive environment. The word "reinforce"
MEANS ..cvvvrreennnnene :

1. support 2. reduce 3. employ 4. expose

6-He is a new breed of manager whose performance seems necessary. The word "breed" means

1. piece 2. force 3. style 4. type

/-Compensation includes incentives given to employees in exchange for their work. The word
"incentive” means ................ .

1. motivation 2. evaluation 3. exploration 4. stagnation

8-Participants are usually screened to make sure they can withstand the anxiety raised bya T
group.The word "screen" means.......... .

1. provide 2. exchange 3. arrange 4. examine

9-1t aims at improving processes operative in the team, such as communication and task
assignment.The word "operative” means ....

1. effective 2. destructive 3. exploitative 4. integrative

10-He tries to obscure the facts by telling lies. The word "obscure"” means................ .

1. pay to use something 2. make possible

3. use for advantage 4. make less clear
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11-The current structure does not .................... efficient work flow.

1. recognize 2. constitute 3. facilitate 4. translate
12-The company offered to .................. an international conference in the following year.

1. coordinate 2. explore 3. diagnose 4. operate
13-He has a very ................. arrangement with his employer so he can work whatever hours suits

him.

1. remedial 2. reducible 3. global 4. flexible
14-commitment to the. .................. problem-solving approaches increases the likelihood that high-

quality and creative ideas will be recognized and developed fully.

1. temporary 2. rational 3. voluntary 4. annual
15-Unemployment is a(an) ......cccceevueeee. problem which won't just disappear overnight.

1. immediate 2. competitive 3. stubborn 4. explotative
16-The lack of jobs in this area means that the workforce is easily .........cc......... .

1. technologic 2. convincible 3. strategic 4. exploitable
17-A new crash-poor company might offer employees company stock as part of its .........c.cccuuu...... plan

in order to keep immediate expenditures low.

1. competition 2. communication 3. generation 4. compensation
18-The key professionals can be ................... from within the organization or other organizations.

1. emphasized 2. stablized 3. integrated 4. recruited
19-They are expecting a large .........c........... at the meeting.

1. experience 2. consultant 3. attendance 4. retirement
20-Members then ......cceceeeuvenenee. what actions need to be taken to solve the problems and exploit the

opportunities uncovered in the survey.

1. prevent 2. destroy 3. withstand 4. determine

21-1t means that managers put aside the hierarchical authority structure and kept employees play a
greater role in decision making. It refers to .................. :

1. collaborative management 2. transaction analysis

3. economic environment 4. process consultation
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22-1t is a large business firm that controls the production of goods of very different kinds. It refers to

1. conglomerate 2. merger 3. transaction 4. expertise

23-1t is a large system consisting of many similar parts that are connected together to allow
movement or communication between the parts. It refers to ............... :

1. hierarchy 2. board 3. network 4. laybor

24-1t is an amount of money paid to an employee who is to be dismissed for reasons other than his
own fault. It refers to ............. .

1. severance 2. salary 3. expenditure 4. pension
25-1t is an action taken in advance to avoid danger or to prevent problems. It refers to ............... :
1. longevity 2. precaution 3. barrier 4. contribution

26-After organizational structure has been changed, management should conduct periodic reviews to
make sure that the change is accomplishing its intended purpose. The word "periodic review"

1. i SU 5L 2. s ol 3. alesl 5,555b 4. X 99y

27-The implementation stage of the creative process in organizations consists of those steps that
bring a solution. The word " implementation” means .................. .

1 i 2. sy 3. yls, 4. .. .

28-They offer him a comprehensive training in all aspects of the business. The word "comprehensive
training " means ............... .

1. blos! elusl 2. aal> ij90l 3. g0 ke b 03y oy

29-The performance appraisal of a worker is compared to walking 4 miles per hour, as a performance

standard of 100. The word " performance appraisal” means ................. .
1o o ol 2 Slajle 515y 0 e
35 Shes gt i A polaasl 51 o e

30-His task assignment was to collect unclear evidence for investigation. The word " evidence
Means ......ccee.... :

1. by 2. 50,5 3. s 4. S s
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1-There was really no ......... between the different groups of the meeting.
1. coordinate 2. coordinates 3. coordination 4. coordinated
2-Many managers encourage employees to search for areas in which ............... organizational change

can be made.

1. destructive 2. collaborative 3. dependent 4. peneficial

3-The company has been forced to modify its position. modify means............

1. give 2. change 3. make 4. serve
4-Modern life depends on good ......... :

1. technology 2. technologic 3. technological 4. technologically
5-They always try to ........ their customers with necessary assistance.

1. accommodation 2. accommodated 3. accommodates 4. accommodate
6-Changing an organization is the process of modifying an ......... organization.

1. unreal 2. abstract 3. existing 4. imaginary

/- A potentially beneficial change for the organization might not result in any advantages. beneficial

means...........
1. common 2. having the power of reason
3. complete 4. having a good effect

8-Future economic growth depends heavily on the success of small firms. firm means.............

1. any science or profession 2. examination
3. any company or business 4. condition
9-This metal is used in the manufacture of many useful things. ‘Manufacture’ means.......
1. making 2. ruining 3. wasting 4. assembling

10-The unemployment rate in the undeveloped countries has risen. rate means................... .

1. store 2. profit 3. plant 4. pace
11-1t's very difficult to ................... yourself into a society whose culture is so different from your
own.
1. generate 2. compete 3. integrate 4. facilitate
12-Creative people tend to be more ........ than non-creative people. They are able and willing to shift
from one approach to another when tackling a problem.
1. fixed 2. flexible 3. invariable 4. unchangeable
¥ il axio 1Y bl 1010/101070904
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13-The implementation stage of the creative process in organizations consists of those steps that

bring a ....... or invention to the marketplace.
1. solve 2. solves 3. solvable 4. solution
14-He is a retired person; he receives his ........ccceuvreene from the government.
1. pension 2. manufacture 3. labor 4. stagnation
15-The company has a stock of washing machines and refrigerators. stock means............
1. a supply of something for use 2. an official rule
3. a sum of money 4. alarge factory
16-The manger........ those very lazy workers. They were dismissed from their jobs and are not working

anywhere now.

1. hired 2. fired 3. recruited 4. employed

17-He managed to convince the manager of his mistakes. convince means.............

1. create 2. examine 3. include 4. persuade

18-The human resources function plays a vital role in any organization's ability to meet its goal. vital

means...........
1. important 2. temporary 3. difficult 4. voluntary
19-Human resource ....... is the process of analyzing an organization’s needs for various employees in

accord with its goals and devising activities to meet those needs.

1. shifting 2. assessing 3. planning 4. evaluating

20-They have diagnosed the sources of problems. diagnose means..........

1. recognize 2. solve 3. combine 4. cause

21-Organizational development is the technique of managerial adaptation designed to charge the

arrangement of an organization gradually to ......... its efficiency.

1. reduce 2. improve 3. miss 4. lose
22-There is a.......... in the classification of all living creatures.

1. hierarch 2. hierarchical 3. hierarchy 4. hierarchically
23-In sensitivity training,....c..cccccevveeneenee. are taken to ensure that attendance is truly voluntary.

1. stubborness 2. facilities 3. precautions 4. services
24-All things are.......c.cc.uu... at the company to make sure it contains nothing dangerous.

1. exploited 2. recruited 3. screened 4. obscured
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25-He employed us and is our......... here; it is better to ask his permission.

1. employee 2. merger 3. boss 4. bus

26-Several special skills are necessary for success as a change agent, including the ability to determine
how a change should be made, and to use behavioral science tools to influence people

appropriately during the change. ‘Behavioral science tools’ means........ :
1 SIS pale il 2. oke 1
3 150 g ok 5, b solidy g ! Bilg

27-The organizational structure also plays an important role here. ‘Organizational structure’

means....... .
1. LE'L"JL""’ Jt';é'L““ 2. Jté-Lnu < oLnjL..u
3. eyl b ylojlu 4. oo sl jlwg o lu

28-Many employees, after 20 years working, are taking early retirement. ‘Retirement’ means....... .

1 bt 2 St} S S5l - same plasi

29-Every organization, whether its a multinational conglomerate,or a small business, depends on
people. conglomerate means..........

1- d" e Ju"

30-The survey feedback technique involves conducting attitude and other surveys and systematically
reports the results to the organization members. ‘Reports the results to the organization
members’ means...... .

1 das o 155 plojls Ll &y 1 s 2 WS oo o195 S lojls Lias

3 g g0 Glr plojle sl gl g b 3159 b e a plasial lojle sl susaer Lias!
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1-A plan of how much money to take in and how to spend it is called........ .

1. loss 2. price 3. profit 4. budget
2-This metal is used in the manufacture of many useful things. ‘Manufacture’ means...... .

1. making 2. ruining 3. wasting 4. assembling
3-There was really no ......... between the different groups of the meeting.

1. coordinate 2. coordinates 3. coordination 4. coordinated

4-The technological advances in computing and telecommunication will reduce the need for many
people to travel to work. ‘Reduce’ means........ .

1. deepen 2. enlarge 3. make less 4. make more
5-My friend stayed and talked so much that he ....... his train.

1. lose 2. |ost 3. loses 4. losing
6-Creative people tend to be more ........ than non-creative people. They are able and willing to shift

from one approach to another when tackling a problem.

1. fixed 2. flexible 3. invariable 4. unchangeable
/-Modern life depends on good ......... .

1. technology 2. technologic 3. technological 4. technologically
8-They always try to ........ their customers with necessary assistance.

1. accommodation 2. accommodated 3. accommodates 4. accommodate
9-Changing an organization is the process of modifying an ......... organization.

1. unreal 2. abstract 3. existing 4. imaginary

10-In general, managers should make changes that ........ organizational effectiveness.
1. limit 2. reduce 3. decrease 4. increase

11-The implementation stage of the creative process in organizations consists of those steps that

bring a ....... or invention to the marketplace.
1. solve 2. solves 3. solvable 4. solution
12-The factory might offer the workers factory stock as part of its......... , i.e., as part of their wages and
benefits.
1. compensation 2. conversation 3. consideration 4. comprehension
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13-The manger........ those very lazy workers. They were dismissed from their jobs and are not working
anywhere now.

1. hired 2. fired 3. recruited 4. employed
14-Like other organizational managers, human resource managers must.......their organization’s

environment, resources, and goals.

1. delete 2. avoid 3. ignore 4. consider
15-Human resource ....... is the process of analyzing an organization’s needs for various employees in

accord with its goals and devising activities to meet those needs.

1. shifting 2. assessing 3. planning 4. evaluating

16-Organizational development is the technique of managerial adaptation designed to charge the

arrangement of an organization gradually to ......... its efficiency.

1. reduce 2. improve 3. miss 4. lose
17-He employed us and is our......... here; it is better to ask his permission.

1. employee 2. merger 3. boss 4. bus

18-Several special skills are necessary for success as a change agent, including the ability to determine
how a change should be made, and to use behavioral science tools to influence people
appropriately during the change. ‘Behavioral science tools’ means........ .

1. 5,68, pake i3 2. sade 3l
3 1590 g pke ,id, 4 sty g 21y @olgm
19-Many employees, after 20 years working, are taking early retirement. ‘Retirement’ means....... .
1. L, ls' 2 &= v anb 3 . & u’ 4 I L |
<L P S P = oo elusiw

20-The organizational structure also plays an important role here. ‘Organizational structure’

means....... .
1. bl sl 2. Jsle o obojluw
- Jlo,lisle o oylojlu 4 Ko sl el
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1-My sister needs a person who can give her some advice. She needs a....... .

1. reader 2. writer 3. consumer 4. consultant

2-For an organization to maximize effectiveness, appropriate people must be matched with
appropriate technology and appropriate......... .

1. workers 2. structure 3. employers 4. employees
3-The plan was approved with some minor......... . These minor changes were really necessary.
1. refusals 2. rejections 3. deletions 4. modifications

4-The unemployment in the northern part of the country is virtually non-existent. ‘Virtually’
means....... :

1. almost 2. exactly 3. certainly 4. definitely

5-The manager’s efforts to improve the company have been very........ :

1. effect 2. effects 3. effective 4. effectively

6-What we have here is a new generation of advanced......... .

1. technology 2. technologic 3. technological 4. technologically

/-The five factors which should be considered when changing an organization are: the change agent,
determining what should be changed, the kind of change, individuals affected by the change, and

....... of change.

1. translation 2. evaluation 3. graduation 4. rejection
8-There are many multinational firms in this part of the city. ‘Firms’ means....... .

1. methods 2. countries 3. companies 4. consultants
9-People like shopping in large...... because they can get everything in those places.

1. stores 2. steps 3. storms 4. skies

10-When someone is able to change or be changed easily according to the situation, he is called a(n)
........ person.

1. fixed 2. hard 3. flexible 4. inflexible

11-1t always intrigues me how someone so intelligent could do such stupid things. ‘Intrigues’
means........ :

1. assists 2. forgives 3. interests 4. excludes
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12-The new company will......many new jobs.

1. generate 2. generative 3. generation 4. generatively

13-Many management writers define........ as the generation of a new idea and innovation as the
translation of a new idea into a new company, a new product, etc.

1. laziness 2. creativity 3. competition 4. motivation
14-This company........ electrical devices. It makes very good devices.
1. exposes 2. intrigues 3. advertises 4. manufactures

15-Let’s........scome new people to the job in our company.

1. recruits 2. recruit 3. recruited 4. recruitment
16-The new employee managed to........ the manager of his mistakes.
1. convincement 2. convinced 3. convinces 4. convince

17-The human resource function plays a vital role in any organization’s ability to meet its goals. ‘Vital’

means........ .
1. insignificant 2. jmportant 3. unusual 4. strange
18-In the organizations that favor stability over growth, a ........ caretaker style of management may be

preferred, as it has been in many businesses since World War the second.

1. new 2. modern 3. traditional 4. technological

19-Staffing is the process of attracting and selecting .......for positions in accordance with
organizational goals.

1. attitudes 2. employees 3. manners 4. skills
20-She is looking for a(n).......job, not a temporary one.
1. loose 2. unfixed 3. unstable 4. permanent

21-The approach which analyses different activities of a group or team to improve its effectiveness is

called......... .
1. retirement 2. T training
3. team building 4. individual building

22-The action which is taken in advance to avoid danger or to prevent problems is called......... .

1. precaution 2. production 3. promoting 4. profitability
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23-The product of this new factory is the result of the ....... between two of the best companies in our country.

1. collaborate 2. collaborative 3. collaboration 4. collaboratively

24-The manager has made an initial ......, but there will be an additional examination by a specialist.
1. diagnostically 2. diagnostic 3. diagnose 4. diagnosis
25-The action research refers to the way OD change agents go about learning what aspects of the organization

need to be improved and how the organization can be helped to make these improvements. ‘OD’ stands
for Organizational......... :

1. Device 2. Development 3. Distribution 4. Decision making

26-Many managers consider change to be so critical to the success of the organizations that they encourage
employees to continually search for areas in which beneficial organizational change can be made.

‘Encourage employees’ means........ .
LERECCC PR PPV S PN RCP T 2 AL o dsd [y (LSS
3 a0 planil ayu plasiu! b LS o plaseenl 1) gl s, s

2/7-These competitors introduced new products into the market. ‘These competitors introduced new products

into the market’ means........ .

LIPS IS RUREREAGE 2 ol sgzgr il yo bl ol

3w 5l o Pl el s, gYls 40,5 462 413 4 W ©Y gaxe LS, o]
28-The discovery of oil brought many benefits to the country. ‘Benefits’ means......... .

1. 23lio 2. R 3. s lao 4. e

29-The human resource management process consists of six distinct steps. ‘Consists of six distinct steps’

means......... .
1o ol sasso Jol o gl 2. 5,415 Alold Casidge b pud i
3 5l alopo it 31 i 4 ol oo alo o iy Jolis

30-The survey feedback technique involves conducting attitude and other surveys and systematically reports
the results to the organization members. ‘Reports the results to the organization members’ means...... .
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1-This company ..........c..ue... its operations last year and opened several regional offices.

1. exposed 2. manufactured 3. recruited 4. decentralized
2-The university has very good lab facilities. facilities means ................ :

1. equipment 2. function 3. payment 4. operation
3-The manager has some.................. over the employee; therefore, he can change his decisions.

1. merger 2. authority 3. barrier 4. longevity

4-The purpose of organizational modifications is to increase organizational ................ .

1. effectiveness 2. attendance 3. stubborness 4. dependance
5-Structural change is aimed at increasing organizational ..........c.......... through modifications to the

existing organizationalstructure.

1. effectiveness 2. empowerment 3- succession 4. movement
6-1t is a plan of how much money to take in and how to spend it . it refers to ................. :

1. budget 2. store 3. pension 4. salary
/-He is afraid he can't generate much interest for the job. generate means ................. .

1. produce 2. fire 3- narrow 4. limit
8-Unemployment is a(n).....cccceuvveennee problem which won't just disappear overnight.

1. remedial 2. accurate 3. rational 4. stubborn

9-1t is an amount of money paid to an employee who is to be dismissed for reasons other than his

own fault. it refers to .............. .
1. retirement 2. succession 3. severance 4. generation
10-Creative people tend to be more................. than none-creative people. They are able to shift from

one approach to another when tackling a problem.

1. flexible 2. exploitative 3. accurate 4. competitive

11-A high degree of integration is required among the various units of the organization. The word
"require” means............... .

1. need 2. learn 3. find 4. allow
12-The factory might offer workers factory stock as part of its .......ccceuveenes .
1. stagnation 2. compensation 3. consultation 4. precaution
¥l axio L5 PR o 1 1010/101059048
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13-He was fired because of his laziness. fire means ............... :
1. measure 2. modify 3. dismiss 4. create

14-They offer her a comprehensive training in all aspects of the business. comprehensive means .......
1. uncertain 2. growth 3. quality 4. complete

15-1t is the process of assessing the quality of an employees job performance and communicating

those findings to the employee. it refers to ................. :
1. working condition 2. employee evaluation
3. strategic planning 4. jdea generation

16-Her knowledge encompass all aspects of the business. encompass means ................ :

1. include 2. destroy 3. examine 4. refuse
17-The two companies worked in close ................ with each other on the new projects.
1. modification 2. rejection 3. collaboration 4. reduction

18-Transactional analysis attempts to reduce destructive communication haibts .reduce means

1. appear 2. make less 3. develop 4. make possible

19-Members then_determine what actions need to be taken to solve the problems. The word
"determine" means .......c.ceeeueene. :

1. decide 2. survive 3. prevent 4. reject

20-All things are screened at the company to make sure it contains nothing dangerous. screen means

1. continue 2. jmagine 3. replace 4. examine

21-The company decentralized its operations last year and opened several regional offices.
decentralize means ................ .

1. , 2 3. 4, e
0o ik 0P b al 0o Tl 095 (21935 yod

22-1t is a view that is reinforced by today's changing and competitive environment. The word
"reinforce"” means ................... :
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23-The employers have a process consoltation to decide whether to increase their worker's wages.
process consoltation means .......

1. Glbes Jol 0 0 y5line 2 sanie by

3. O Slos 2yl ol > 4. Sil9ol 55 5L

24-The performance appraisal of a worker is compared to walking 4 miles per hour, as a performance

standard of 100. The word "performance appraisal” means................. .
15 Sle obois) 2. 335 S et 3. 5 Shos ks i1 4oasls
25-His task assignment was to collect unclear evidence for investigation. Thr word "task assignment"
MEANS ceervvrrnerncrenrenens :
Lol o) 2. (s 3. )15 g, )38 4.
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1-1t's often very difficult to change the manager's attitude. The word "attitude" means

1. service 2. opinion 3. situation 4. assistance

2- To increase organizational efficiency, managers may want to change the equipment. The word
"equipment"” means .......c......... :

1. experiences 2. quantities 3. janitors 4. facilities

3-0rganizational characteristics can support or inhibit the development and use of creative ideas.
The word "inhibit" means .......... .

1. modify 2. connect 3. demand 4. prevent

4- A high degree of integration is required among the various units of the organization. The word
"require” means............... .

1. need 2. |earn 3. find 4. allow

5-They offer him a comprehensive training in all aspects of the business. The word "comprehensive"
MEANS ..cevverencennnnnn. :

1. stagnant 2. innovative 3. efficient 4. complete

6-They must be convinced by pay, benefits, and working conditions to take and keep the job. The
word "convince"” means ............. :

1. improve 2. persuade 3. obscure 4. arrange

/-Members then determine what actions need to be taken to solve the problems. The word
"determine"” means .........cceuuueee.. :

1. decide 2. survive 3. prevent 4. reject

8-Employee evaluation is the process of assessing the quality of an employe's job performance. The
word "assess" means ........... :

1. refuse 2. consider 3. judge 4. collect

9-Participants are usually screened to make sure they can withstand the anxiety raised by a T group.
The word "withstand" means ................. .

1. focus 2. gain 3. repair 4. bear

10-The exploration for new sources of energy is vital for the future of our planet. the word "vital"

MEeaNns ...ccccvceeenncnnns .

1. crucial 2. visual 3. annual 4. verbal
11-They always try to ............... their customers with financial assistance if necessary.

1. accommodate 2. constitute 3. manufacture 4. decentralize
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12-Managers should choose change agents who possess the most .................. in the areas suggested

by the necessary special skills.

1. perspective 2. sequence 3. attendance 4. expertise
13-Creative people tend to be more................. than none-creative people. They are able to shift from

one approach to another when tackling a problem.

1. flexible 2. exploitative 3. accurate 4. competitive
14-Computers are used to store and ................. information efficiently.

1. generate 2. refuse 3. retrieve 4. facilitate
15-Organizations that are too rigidly structured may have a difficult time ................ their activities.

1. integrating 2. clarifying 3. contributing 4. devising
16-Benefits are parts of the.................. package provided by the employer other than direct wages,

such as health insurance.

1. compensation 2. modification 3. coordination 4. intervention
17-Prices should remain ................. for some months.

1. stablize 2. stable 3. stability 4. stably
18-Compensation includes the direct wages, benefits, and .................... given to employees in

exchange for their work.

1. incentives 2. applicants 3. processes 4. components
19-Laws exist to stop companies ......c.c.......... their employees.

1. forecast 2. diagnose 3. exploit 4. refine
20-The company has a large workeforce of permanent and ................ staff.

1. remedial 2. destructive 3. rational 4. temporary
21-A plan of how much money to take in and how to spend it is called .................. :

1. network 2. merger 3. budget 4. janitor

22-A list of the people employed by a company showing how much one earns is called ................ .

1. context 2. payroll 3. salary 4. stock

1010/1010567018
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23-A large business firm that controls the production of goods of very different kinds is called

1. conglomerate 2. confrontation 3. performance 4. precaution

24- An amount of money paid to an employee who is to be dismissed for reason other than his own
fault is called ............... .

1. severance 2. pension 3. expenditure 4. penefit

25-An appproach which analyses different activities of a group to improve its effectiveness is called

1. sensitivity training 2. team building

3. strategic planning 4. test marketing

26-An important breakthrough in the organization has been achieved. The word "breakthrough"
MEANS ...euvrerennnnnes .

1. 5515 5 00 2. 5,554, 3. Salea 4. b

27-1t is a view that is reinforced by today's changing and competitive environment. The word
"reinforce” means.................... :

1 o5 oLl 2. oS Cusi 3. o5 a5l 4 oS aleal

28-The performance appraisal of a worker is compared to walking 4 miles per hour, as a performance
standard of 100. The word “performance appraisal” means ................ :

1o Slee ;)| 2. 555 Jogeus 30 5 Slas ot 5l 4555 s

29-A fear of unemployment is one of the main factors behind the current stagnation in the property
market. stagnation means .........

1., 55 2. B, 3. 44 4. s

30-His task assignment was to collect unclear evidence for investigation. Thr word "task assighnment”
MEANS ..ccurvrrenennrennnnn. :

1. B he 5 2. Jos 50 3. N s, 4. S s
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1-Transactional analysis attempts to reduce destructive communication haibts .reduce means

1. appear 2. make less 3. develop 4. make possible
2-The university has very good lab facilities. facilities means ................ :
1. equipment 2. function 3. payment 4. operation

3-Your explanation might have convinced him, but it didn't convince his sister. convince means

1. constitute 2. produce 3. emphasize 4. persuade

4-1t always intrigues me how someone so intelligent could do such stupid things. intrigue means

1. combine 2. increase a lot 3. determine 4. interest a lot

5-Human resource management is a comprehensive, integrated system for effectively managing the
work force. comprehensive means .........cccceueeeee :

1. patural 2. complete 3. flexible 4. appropriate

6-Change is a fundamental part of organizational existence. fundamental means ................. .

1. regular 2. potential 3. creative 4. necessary
/-He was fired because of his laziness. fire means ............... :
1. refine 2. encompass 3. require 4. dismiss

8-Some workers were inhibited from speaking by the presence of more managers. inhibit means

1. prevent from doing something 2. pay to use something

3. give what is needed to someone 4. bring back something

9-All things are screened at the company to make sure it contains nothing dangerous. screen means

1. continue 2. jmagine 3. replace 4. examine

10-Laws exist to stop companies exploit their employees. exploit means ................. .

1. use for advantage 2. exchange
3. suit new condition 4. receive
11-The company needs someone to .................. the whole operations.
1. refuse 2. escape 3. prevent 4. coordinate

Y ) A e \ Y087 J g Il 1010/101052690
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12-Managers should make changes that increase organizational ................ :

1. retirement 2. confrontation 3. attendance 4. effectiveness
13-Computers are used to store and ................. information efficiently.

1. pure 2. encourage 3. interest 4. retrieve
14-He has no .........ccuuue... in controlling the company.

1. succession 2. preakthrough 3. expertise 4. expenditure
15-Benefits are parts of the ................. package provided by the employer other than direct wages.

1. conglomerate 2. longevity 3. compensation 4. stability

16-An amount of money paid to an employee who is to be dismissed for reasons other than his own
fault is called ................ .

1. severance 2. recruitment 3. regulation 4. initiative

17-The process of attracting and selecting employees for positions in accordance with organizational
goals is called ..................... :

1. training 2. staffing 3. planning 4. choosing

18-A set of events or actions in which each follows the one before continuously or in a particular
order is called .................. [

1. breed 2. perspective 3. barrier 4. sequence

19-A list of the people employed by a company showing how much one earns is called ................. .

1. payroll 2. board 3. pension 4. stock

20-An approach which analyses different activities of a group to improve its effectiveness is called

1. process consultation 2. team building

3. sensitivity training 4. task assignment
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1-He is afraid he can't generate much interest for the job. generate means ................. .

1. produce 2. fire 3. narrow 4. limit

2-The most overlooked skill of successful change agents is the ability to determine how much
changes employees can withstand. withstand means ................ :

1. improve 2. resist 3. behave 4. increase

3-Proper integration of all these groups is necessary for a quality innovation to be produced on time.
integration means ............. .

1. joining 2. leaving 3. refusing 4. finding

4-Some workers were inhibited from speaking by the presence of more managers. inhibit means

1. convince 2. interest 3. examine 4. prevent

5-The purpose of modifications is to increase organizational effectiveness. modification means

1. change 2. manufacture 3. refuse 4. advantage

6-1If the economic stagnation in many countries is to be overcome, trade needs to be increased
between industry and developing nations. stagnation means .............. .

1. profession of engineer 2. production of things

3. examination of subjects 4. lack of development

7-He is a new breed of manager whose performance seems necessary. breed means ................. :

1. context 2. point 3. action 4. kind
8-This confrontation between the two groups leads to fighting. confrontation means ................. :
1. the act of facing 2. the result of testing
3. the making of things 4. the determination of goal
9-The unemployment rate in the undeveloped countries has risen. rate means .................. :
1. store 2. profit 3. plant 4. pace

10-We need to make sure that we exploit our resources as fully as possible. exploit means

1. pay well 2. make less 3. use well 4. make possible
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11-The current structure does not facilitate efficient work flow.facilitate means...........

1. make difficult 2. give information

3. give advice 4. make easier
12-Unemployment is a(n)....cccceevveeneee. problem which won't just disappear overnight.

1. remedial 2. accurate 3. rational 4. stubborn
13-Many employees, after 20 years working, are taking early ................... .

1. exploitation 2. fulfillment 3. competition 4. retirement
14-They are expecting a large ......cc.cuuuu..... at the meeting.

1. regulation 2. sequence 3. precaution 4. attendance
15-Structural change is aimed at increasing organizational ...........c.ccc....... through modifications to the

existing organizationalstructure.

1. effectiveness 2. empowerment 3. succession 4. movement
16-The workers were ................. to considerable danger.

1. exposed 2. integrated 3. refined 4. intrigued
17-Modern weapons have an extremely high ................. power.

1. exploitative 2. destructive 3- collaborative 4. integrative
18-They offer her a_ comprehensive training in all aspects of the business. comprehensive means .......

1. uncertain 2. growth 3. quality 4. complete
19-The two companies worked in close ..................... with each other on the new project.

1. collaboration 2. translation 3. compensation 4. transaction
20-The management have offered employees one week ................. for each six months they have

worked at the company.

1. community 2. severance 3. authority 4. assistance
21-1tis an important development or discovery that helps to provide an answer to a problem. it refers

{0 TN .

1. expertise 2. expenditure 3. feedback 4. breakthrough
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22-1tis a list of the people employed by a company showing how much one earns. it refers to

1. barrier 2. expert 3. benefit 4. payroll
23-1t is a plan of how much money to take in and how to spend it . it refers to ................. .
1. budget 2. store 3. pension 4. salary

24-1t is the process of assessing the quality of an employees job performance and communicating

those findings to the employee. it refers to ................. .
1. working condition 2. employee evaluation
3. strategic planning 4. jdea generation

25-1t means that managers put aside the hierarchial authority structure and let employees play a
greater role in decision making. it refers to ......cccceevuvenneenn :

1. performance appraisal 2. sensitivity training

3. collaborative management 4. transactional analysis

26-The company decentralized its operations last year and opened several regional offices.
decentralize means ................ :

1. . 2. 3. 4. g
0o bk 05 sl ale 0o T 0255 (219555 yod

27-A high rate of innovation often reduces short-term profitability. reduce short-term profitability

MEANS .ccuvvvrennnnnss .
1 Gke oS (po3gas Gials % oligS Fao sl prg8 €5 3
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28-He works for a recruitment consultancy in Shiraz. recruitment means............ .
[ PP 2 ladlite pb cud g i
3 150 98 pociws 4 leb! Jlsl g edl,s

29-His task assignment was to collect unclear evidence for investigation. task assignment means

1. .. ¢ 2. . 3. " @ 4.
aslg o, Jos Bl ) 151y Jos 0 gt
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30-The employers have a process consoltation to decide whether to increase their worker's wages.
process consoltation means .......
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1-The action of making people or things function together efficiently and in an organized manner is
called...........
1. competition 2. consumption 3. coordination 4. contradiction
2-There’s a large variety of......in the shop. You can buy anything that you need.
1. good 2. lots 3. losses 4. goods
3-The improvement in sales figures had a(n).......... influence on the company as a whole. This helpful
and good event happened in last July.
1. beneficial 2. unfortunate 3. beneficially 4. unfortunately
4-A person to whom people go for advice is called.......... .
1. convertor 2. constructor 3. commissioner 4. consultant
5-This university has very good lab facilities. ‘Facilities’ means........ .
1. teachers 2. equipment 3. managers 4. students
6-The two governments will never reach an agreement unless one or the other.......its demands.
1. modifies 2. modification 3. to modified 4. modifications
/-Describing a product or service publically in order to persuade people to buy or use it is called.........
1. revising 2. consuming 3. advertising 4. distributing
8-A kind of test which is used to examine tentatively the degree of the marketing success is
called........ .
1. text-making 2. test-marketing 3. touch-making 4. torch-making
9-Trade......make the business difficult. They prevent people from understanding or doing
something.
1. clerks 2. barriers 3. helpers 4. assistants
10-A good management depends on the successful....... of many parts of an organization.
1. integrate 2. integrates 3. integrated 4. integration
11-The unemployment.......in the underdeveloped countries has risen.
1. rate 2. task 3- role 4. tool
Vi) i ———— | P4 — 40 J o Lo 1010/101037695
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12-With all these foreign imports, our product has lost its.........advantage.
1. compete 2. competes 3. competitive 4. competitively
13-Their prices are high because production........ are very great.
1. rates 2. costs 3. stocks 4. creativities
14-My father is a retired person; he receives his.......from the government. This monthly payment is
enough for his living.
1. portion 2. policy 3. pension 4. patience
15-The amount of money for which something is sold or bought is called........ :
1. price 2. tax 3. risk 4. insurance
16-At the end of the day, the employees put their chairs on their desks so that the.......had to clean
the floor of the office and the other things again.
1. manager 2. supervisor 3. director 4. janitor
17-He gave some excuses for not having been at the meeting but those excuses were not very....... .
1. convincing 2. convince 3. convinces 4. convincingly
18-Like other organizational managers, human resource managers must consider their organization’s
environment,......... , and goals.
1. races 2. ranges 3. religion 4. resources
19-The employees who leave jobs within the organization must be.......unless the organization is
downsizing.
1. replace 2. replaces 3. to replaces 4. replaced
20-They need more.......from the consumers in order to improve their goods. The consumers’
statements and information about the goods are very important.
1. feedback 2. stagnation
3. checkbook 4. discouragement
21-His sister does.......work for the Hellal Ahmar two days a week. She does her work willingly,
without being forced or paid to do that.
1. voluntary 2. neural 3. forceful 4. compulsory
VY i —————— | P 40 J o Lo 1010/101037695
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22-There is a.......... in the classification of all living creatures.

1. hierarch 2. hierarchical 3. hierarchy 4. hierarchically

23-To permit an organization’s managers to assess the health of the organization and set up plans of
action for improving it, the confrontation meeting may be used. ‘Permit’ means...... .

1. live 2. et 3. refuse 4. reject

24-The organization that is not creative and innovative may not survive. ‘Creative’ means....... .

1 s olo 2. LS o s 3. s 4. 3

25-The_production manager must work with the marketing managers. ‘Production manager’
means........ :

1 10y 2. ddgi pow £ Sy oo ylaxdil 4. oo Laslgy pow

26-Most managers agree that_if an organization is to be successful , it must change continually in
response to significant developments, such as customer needs. ‘If an organization is to be
successful’ means........ .

1.

S9 oy (A9g90 (ylojlw 5] dliwp 3990 Lslojlw wizy y
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27-1n process consultation, a consultant works with organization members to help them understand
the dynamics of their working relationships in group or team situation. ‘Consultant’ means........ :

1. = + 0 2 & . 4 -
oW Jijuo 3 CJSL‘LQ JLs.u.m}

28-The_working relationship between two or three individuals is one of the techniques that can be
used to improve the effectiveness of individuals. ‘Working relationship’ means....... :

. 2. o s i 4.
1 6yl alal, | S o 3. &)1 all, &y o 8

29-Their continuing success means that they will need to hire many staff over the coming year. ‘Hire’
means......... .

1. 2.

AR REEN o555 71,5 3. s lail e 4 oty ool

30-The company offered a comprehensive training for the workers. ‘Comprehensive’ means....... .

1. 2. 3. : 4.

oSt o oo &l

¥ Y axio 1FAF—0 Jaf Jluwows RIBR AT




1212344 - 94-95-1

Salo

Sale

ol

Sale

Sl

Sale

ol

Salo

Sale

Sale

Sale

10
11
12
13
14
15
16
17
18
19
210
21

Sale

wall

Sale

Salo

Salo

Sale

wSalo

1]

Sale

ol

Sale

Sale

Sale

w2l

Sale

a-1]

Sale

22
25
24
2o
26
27
28
29
S

Sale

Sale

Salo

Sale

Sale

Sale

Sale

wall

Sale

Salo




